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1. State the vertical asymptotes of f{x) = ————. (r = T
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3. Identify the vertical and horizontal asymptotes of f{x) % A __g L
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a. vertical:x =4, horizontal: y = - @ vertical: x = —5 horizontal: y =
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d. vertical: x= 1 horizontal: y = -

b. vertical: x =4, horizontal: y = % ! >

4. State the equation of the rational function that this graph represents.
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5. Solve & =3x_2 for x. ~ £ 2= =2 Ao~ 2a -2
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6. If x # 3 which of the following is equivalent to xS_xS =8+ x1—23 x # >
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7. The harmonic mean of two numbers, a and b, is a number m such that the reciprocal of m is the average of the
reciprocals of @ and 5. Which of the following is a formula for the harmonic mean of @ and 5?
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8. The inequality 3x =2 < ii; is equivalent to which of the following?

a. 3x’-9%+8<0 c. x*=9%>0
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9. Which inequality is equivalent tox+ 5 <3135
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10. Use this graph to determine which of the following is a part of the solution set of 2x + 1 >
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11. Write a rational function in the form of f{x) = ot that has a zero at x = —1, a vertical asymptote at x =0, and a
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12. Determine all asymptotes and/or hole discontinuities for the functions: lo C"\”? 'A&\M?T 0TE S
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. State the domain and range of the function. State where the function is increasing

13. Sketch the graph of f{x) = P
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14. Solve3x+2—l—x_1.
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